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NOTE: this NFA has potential conflict, we can decide the matched lexeme by 1. take the longest
2. take the first listed.
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We can prove that two regular expressions are equivalent by showing that their
minimum-state DFA ‘s are the same up to renaming of states.Show in this way that
the following regular expressions: (a|b)*, (a*|b*)*, and ((¢|a)b*)* are all equivalent.
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2) (a*|b*)*
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3) ((ela)[b™)*

{1.2,3} {3}
Y

7
nullable{1,2} ¥{1.2} {3} # {3} followpos(n)
{1,2,3}

nullable {1,2}( ){1,2} {1, 2, 3}

nullable {1} | {1} {2} * {2} nullable

@c® {1}a{l} {2}b{2}




¥, P118 3.9.2

4) (a|b)*abb(a]b)*
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THANK YOU

Everyone has his inherent ability which is easily concealed by habits, blurred by time, and eroded by laziness.
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